UNIVERSITY OF MISSOURI - Columbia Tuition Rates Beginning with the 2010 Summer Session April 5, 2010

TUITION			2009-2010 RATES		2010-2011 RATES				
Student Level or	Residence	Term	Plateau	Per Credit	Flat	Per Credit	Flat	Percentage	Dollar
Professional Program	Status	Туре		Hour Rate	Rate	Hour Rate	Rate	Change	Change
Undergraduate *	Missouri	Semester	None	\$245.60		\$245.60		0.0%	\$0.00
	Nonresident	Semester	None	\$615.30		\$646.10		5.0%	\$30.80
Graduate	Missouri	Semester	None	\$298.70		\$306.80		2.7%	\$8.10
	Nonresident	Semester	None	\$771.20		\$792.00		2.7%	\$20.80
Law, UMC	Missouri	Semester	None	\$480.10		\$504.10		5.0%	\$24.00
JD	Nonresident	Semester	None	\$947.90		\$995.30		5.0%	\$47.40
Law, UMC	Missouri	Semester	None	\$480.10		\$571.60		19.1%	\$91.50
LLM	Nonresident	Semester	None	\$947.90		\$1,131.20		19.3%	\$183.30
Medicine, UMC	Missouri	Semester	18	\$659.00	\$11,862.00	\$659.00	\$11,862.00	0.0%	\$0.00
MD	Missouri	Summer	8	\$659.00	\$5,272.00	\$659.00	\$5,272.00	0.0%	\$0.00
	Nonresident	Semester	18	\$1,312.10	\$23,617.80	\$1,312.10	\$23,617.80	0.0%	\$0.00
	Nonresident	Summer	8	\$1,312.10	\$10,496.80	\$1,312.10	\$10,496.80	0.0%	\$0.00
Veterinary Medicine,	Missouri	Semester	16	\$520.70	\$8,331.20	\$520.70	\$8,331.20	0.0%	\$0.00
UMC, DVM	Nonresident	Semester	16	\$1,011.80	\$16,188.80	\$1,324.30	\$21,188.80	30.9%	\$5,000.00

	2009-2010	RATES	2010-2011 RATES				
	Per Credit	Flat	Per Credit	Flat	Percentage	Dollar	
OTHER RELATED ENROLLMENT FEES	Hour Rate	Rate	Hour Rate	Rate	Change	Change	
Information Technology Fee *	\$12.20		\$12.20		0.0%	\$0.00	
Ag, Food and Natural Resources Course Fee	\$40.30		\$41.40		2.7%	\$1.10	
Allied Health Course Fee	\$53.30		\$54.70		2.6%	\$1.40	
Business School Undergraduate Course Fee	\$34.60		\$35.50		2.6%	\$0.90	
Trulaske Business School Graduate Course Fee	\$34.60		\$75.00		116.8%	\$40.40	
College of Education Undergraduate Certification Course Fee	\$34.60		\$35.50		2.6%	\$0.90	
Engineering Course Fee	\$54.50		\$60.00		10.1%	\$5.50	
Journalism Course Fee	\$40.30		\$41.40		2.7%	\$1.10	
Clinical Nursing Fee	\$162.00		\$166.40		2.7%	\$4.40	
Nursing Course Fee, Undergraduate	na		\$60.00		na	\$60.00	
Human Environmental Sciences Course Fee	\$37.50		\$38.50		2.7%	\$1.00	
Science Lab Fee	\$10.80		\$11.10		2.8%	\$0.30	
Medical School Laboratory/Resource Fee**		na		\$540.00	na	\$540.00	
Applied Music Fee		\$201.50		\$206.90	2.7%	\$5.40	
Examination Only - Graduate Enrollment		\$298.70		\$306.80	2.7%	\$8.10	
CE Instructional Fee - Minimum	\$245.60		\$245.60		0.0%	\$0.00	
CE Instructional Fee - Maximum	\$771.20		\$792.00		2.7%	\$20.80	

* Falls under SB389 ** The new Medical School fee would be assessed per credit hour the first two years and per semester the last two years, but the amount would be \$540 per semester.

UNIVERSITY OF MISSOURI - Kansas City Tuition Rates Beginning with the 2010 Summer Session April 5, 2010

TUITION				2009-2010 RATES		2010-2011 RATES				
Student Level or	Residence	Term	Plateau	Per Credit	Flat	Per Credit	Flat	Percentage	Dollar	
Professional Program	Status	Туре		Hour Rate	Rate	Hour Rate	Rate	Change	Change	
Undergraduate *	Missouri	Semester	None	\$245.60		\$245.60		0.0%	\$0.00	
	Nonresident	Semester	None	\$615.30		\$631.90		2.7%	\$16.60	
	Metropolitan **	Semester	None	\$245.60		\$245.60		0.0%	\$0.00	
Graduate	Missouri	Semester	None	\$298.70		\$306.80		2.7%	\$8.10	
	Nonresident	Semester	None	\$771.20		\$792.00		2.7%	\$20.80	
	Metropolitan **	Semester	None	na		\$306.80		na	na	
Anesthesia, UMKC	Missouri	Semester	na		\$10,302.00		\$10,302.00	0.0%	\$0.00	
MS	Missouri	Summer	na		\$6,868.00		\$6,868.00	0.0%	\$0.00	
	Nonresident	Semester	na		\$15,453.00		\$15,453.00	0.0%	\$0.00	
	Nonresident	Summer	na		\$10,302.00		\$10,302.00	0.0%	\$0.00	
Dentistry, UMKC	Missouri	Semester	16	\$740.30	\$11,844.80	\$769.90	\$12,318.40	4.0%	\$473.60	
DDS	Missouri	Summer	8	\$740.30	\$5,922.40	\$769.90	\$6,159.20	4.0%	\$236.80	
	Nonresident	Semester	16	\$1,475.40	\$23,606.40	\$1,534.40	\$24,550.40	4.0%	\$944.00	
	Nonresident	Summer	8	\$1,475.40	\$11,803.20	\$1,534.40	\$12,275.20	4.0%	\$472.00	
Dentistry, UMKC	Missouri	Semester	14	\$910.40	\$12,745.60	\$946.80	\$13,255.20	4.0%	\$509.60	
Graduate Certificate	Missouri	Summer	7	\$910.40	\$6,372.80	\$946.80	\$6,627.60	4.0%	\$254.80	
and MS	Nonresident	Semester	14	\$1,817.50	\$25,445.00	\$1,890.20	\$26,462.80	4.0%	\$1,017.80	
	Nonresident	Summer	7	\$1,817.50	\$12,722.50	\$1,890.20	\$13,231.40	4.0%	\$508.90	
Law, UMKC	Missouri	Semester	None	\$477.20		\$490.10		2.7%	\$12.90	
JD	Nonresident	Semester	None	\$942.20		\$967.60		2.7%	\$25.40	
Law, UMKC	Missouri	Semester	None	\$556.60		\$571.60		2.7%	\$15.00	
LLM	Nonresident	Semester	None	\$1,101.50		\$1,131.20		2.7%	\$29.70	
Medicine, UMKC	Missouri	Semester	16	\$590.40	\$9,446.40	\$590.40	\$9,446.40	0.0%	\$0.00	
MD, Years 1 and 2	Missouri	Summer	8	\$590.40	\$4,723.20	\$590.40	\$4,723.20	0.0%	\$0.00	
	Regional	Semester	16	\$885.60	\$14,169.60	\$885.60	\$14,169.60	0.0%	\$0.00	
	Regional	Summer	8	\$885.60	\$7,084.80	\$885.60	\$7,084.80	0.0%	\$0.00	
	Nonresident	Semester	16	\$1,180.80	\$18,892.80	\$1,180.80	\$18,892.80	0.0%	\$0.00	
	Nonresident	Summer	8	\$1,180.80	\$9,446.40	\$1,180.80	\$9,446.40	0.0%	\$0.00	
Medicine, UMKC	Missouri	Semester	18	\$572.30	\$10,301.40	\$572.30	\$10,301.40	0.0%	\$0.00	
MD, Years 3 thru 6	Missouri	Summer	12	\$572.30	\$6,867.60	\$572.30	\$6,867.60	0.0%	\$0.00	
	Regional	Semester	18	\$858.50	\$15,453.00	\$858.50	\$15,453.00	0.0%	\$0.00	
	Regional	Summer	12	\$858.50	\$10,302.00	\$858.50	\$10,302.00	0.0%	\$0.00	
	Nonresident	Semester	18 12	\$1,144.60	\$20,602.80	\$1,144.60	\$20,602.80	0.0%	\$0.00 \$0.00	
DI LID <i>IUC</i>	Nonresident	Summer		\$1,144.60	\$13,735.20	\$1,144.60	\$13,735.20	0.0%		
Pharmacy, UMKC	Missouri	Semester	15	\$541.40	\$8,121.00	\$556.00	\$8,340.00	2.7%	\$219.00	
Dpharm	Missouri	Summer	6	\$541.40	na	\$556.00	\$3,336.00	2.7%		
	Nonresident	Semester	15	\$1,190.40	\$17,856.00	\$1,222.50	\$18,337.50	2.7%	\$481.50	
	Nonresident	Summer	6	\$1,190.40	na	\$1,222.50	\$7,335.00	2.7%		
Pharmacy, UMKC	Missouri	Semester	None	\$409.10		\$420.10		2.7%	\$11.00	
MS and PhD	Nonresident	Semester	None	\$928.90		\$954.00		2.7%	\$25.10	

	2009-2010	RATES				
	Per Credit		Per Credit	Flat	Percentage	Dollar
OTHER RELATED ENROLLMENT FEES	Hour	Flat Rate	Hour Rate	Rate	Change	Change
Information Technology Fee *	\$12.20		\$12.20		0.0%	\$0.00
Graduate Cluster 1 Supplemental Fee	\$32.30		\$33.20		2.8%	\$0.90
Graduate Cluster 2 Supplemental Fee	\$54.50		\$60.00		10.1%	\$5.50
Bloch School of Business & PA Undergraduate Course Fee	na		\$15.00		na	\$15.00
School of Education Course Fee, UMKC	\$10.00		\$10.30		3.0%	\$0.30
Engineering Course Fee	\$54.50		\$60.00		10.1%	\$5.50
Studio Arts Fee, UMSL (BFA), & UMKC	\$24.50		\$25.20		2.9%	\$0.70
Clinical Nursing Fee, MS (& Pre-Licensure level at UMKC)	\$162.00		\$166.40		2.7%	\$4.40
Science Lab Fee, (expanded to include Geo Sci.)	\$10.80		\$11.10		2.8%	\$0.30
Media & Communications Studies Lab/Studio Course Fee	\$27.10		\$27.80		2.6%	\$0.70
Applied Dance Fee		na		\$150.00	na	\$150.00
Applied Music Fee		\$201.50		\$206.90	2.7%	\$5.40
Examination Only - Graduate Enrollment		\$298.70		\$306.80	2.7%	\$8.10
CE Instructional Fee - Minimum	\$245.60		\$245.60		0.0%	\$0.00
CE Instructional Fee - Maximum	\$771.20		\$792.00		2.7%	\$20.80

* Falls under SB389 ** UMKC is proposing to expand the Metropolitan rate to an additional seven counties in Kansas for a total of eleven counties.

MISSOURI UNIVERSITY OF SCIENCE AND TECHNOLOGY Tuition Rates Beginning with the 2010 Summer Session April 5, 2010

TUITION				2009-2010 RATES		2010-2011 RATES			
Student Level or	Residence	Term	Plateau	Per Credit	Flat	Per Credit	Flat	Percentage	Dollar
Professional Program	Status	Туре		Hour Rate	Rate	Hour Rate	Rate	Change	Change
Undergraduate*	Missouri	Semester	None	\$245.60		\$245.60		0.0%	\$0.00
	Nonresident	Semester	None	\$615.30		\$646.10		5.0%	\$30.80
Graduate	Missouri	Semester	None	\$298.70		\$306.80		2.7%	\$8.10
	Nonresident	Semester	None	\$771.20		\$792.00		2.7%	\$20.80
Business, MS&T	Missouri	Semester	na	\$520.50		\$520.50		0.0%	\$0.00
MBA	Nonresident	Semester	na	\$832.80		\$832.80		0.0%	\$0.00

	2009-2010	RATES				
	Per Credit	Flat	Per Credit	Flat	Percentage	Dollar
OTHER RELATED ENROLLMENT FEES	Hour Rate	Rate	Hour Rate	Rate	Change	Change
Information Technology Fee *	\$12.20		\$12.20		0.0%	\$0.00
Engineering Course Fee	\$54.50		\$60.00		10.1%	\$5.50
Science Supplemental Fee for Computer Science, Biological Sciences,						
Chemistry, Geology, Geophysics, MS&T	\$54.50		\$60.00		10.1%	\$5.50
Science Supplemental Fee for Physics, MS&T	\$27.30		\$30.00		9.9%	\$2.70
Business, IS&T and M&IS Course Fee, MS&T	\$27.30		\$30.00		9.9%	\$2.70
Examination Only - Graduate Enrollment		\$298.70		\$306.80	2.7%	\$8.10
CE Instructional Fee - Minimum	\$245.60		\$245.60		0.0%	\$0.00
CE Instructional Fee - Maximum	\$771.20		\$792.00		2.7%	\$20.80

* Falls under SB389

UNIVERSITY OF MISSOURI - St. Louis Tuition Rates Beginning with the 2010 Summer Session April 12, 2010

TUITION	2009-2010) RATES	2010-2011 RATES						
Student Level or	Residence	Term	Plateau	Per Credit	Flat	Per Credit	Flat	Percentage	Dollar
Professional Program	Status	Туре		Hour Rate	Rate	Hour Rate	Rate	Change	Change
Undergraduate*	Missouri	Semester	None	\$245.60		\$245.60		0.0%	\$0.00
	Nonresident	Semester	None	\$615.30		\$631.90		2.7%	\$16.60
	Metropolitan	Semester	None	\$245.60		\$245.60		0.0%	\$0.00
Graduate	Missouri	Semester	None	\$298.70		\$306.80		2.7%	\$8.10
	Nonresident	Semester	None	\$771.20		\$792.00		2.7%	\$20.80
Optometry, UMSL	Missouri	Semester	16	\$557.10	\$8,913.60	\$557.10	\$8,913.60	0.0%	\$0.00
ÔD	Nonresident	Semester	16	\$1,042.60	\$16,681.60	\$1,042.60	\$16,681.60	0.0%	\$0.00

	2009-2010	RATES				
	Per Credit	Flat	Per Credit	Flat	Percentage	Dollar
OTHER RELATED ENROLLMENT FEES	Hour Rate	Rate	Hour Rate	Rate	Change	Change
Information Technology Fee *	\$12.20		\$12.20		0.0%	\$0.00
Graduate Cluster 1 Supplemental Fee	\$32.30		\$33.20		2.8%	\$0.90
Graduate Cluster 2 Supplemental Fee	\$54.50		\$60.00		10.1%	\$5.50
Business School Undergraduate Course Fee	\$34.60		\$35.50		2.6%	\$0.90
Engineering Course Fee	\$54.50		\$60.00		10.1%	\$5.50
Studio Arts Fee, UMSL (BFA)	\$24.50		\$25.20		2.9%	\$0.70
Clinical Nursing Fee, MS	\$162.00		\$166.40		2.7%	\$4.40
Nursing Course Fee, BSN, 4-Year	\$150.00		\$154.10		2.7%	\$4.10
Science Lab Fee	\$10.80		\$11.10		2.8%	\$0.30
Media & Communications Studies Lab/Studio Course Fee	\$27.10		\$27.80		2.6%	\$0.70
A&S and Fine Arts & Comm. Academic Student Support Fee	na		\$4.00		na	\$4.00
Theater and Dance Supplemental Fee	na		\$27.80		na	\$27.80
Applied Music Fee		\$201.50		\$206.90	2.7%	\$5.40
Examination Only - Graduate Enrollment		\$298.70		\$306.80	2.7%	\$8.10
CE Instructional Fee - Minimum	\$245.60		\$245.60		0.0%	\$0.00
CE Instructional Fee - Maximum	\$771.20		\$792.00		2.7%	\$20.80

* Falls under SB389